0001966453308999

&S00 BEXY 0—elo

2014 47 BTS2 2 M) I
2 [ niXERE, mIBE, koo, BIFEKET S,

(Dazl, Bz108%, aB>a+B— 1 DY IDI & % 7t
(2) 2T L 2XHMALE —mr+ k=00 2°0M% p, q&F5. pHBEESIE, g& htBKTH
57 k&5t
B) zIZHT 2 2GR 22 —nlr +n=01F, BHROMEL BN ¥ % ot
(4) 295 20BN 22 — (n—2)22 +n = 0 MDA £ > L I, nOEEZOMETATRD L.
(1) (£iP) - (h3A) = o(f-oL- B+ 1
= (d=1)(E=1)
20 Cdzl,p21) ~oApza+f-1 B

(2) RE e FWaPAFL). ptg=m = Q=m-p
- om: BE o, prEF IR m-prEEy - 9 17§28y
I, zoes. PRk &Y. Bt B Yy

) YR 0B 455 (RR 93
@& 3 1>0 Bk t YR en3. ShEE o 3 e3'<.
B e1d ¥ afEy). «tp=n® ,afzn
n: B8RS atp >0 af>0 TPt L 21, 21
57 M &Y. df2a+p-1 & p-n-150

s I
P 2

S NCBEHEY) n=1 zgeF xr-x+1zo0 ) BRoopErtrhu @
@G R R, tf= =20 af=hn - g21, p21 4§

NA

543 ]
Was. n2(w-2"-1 & p*=5n+330 S S nE

ShEak?tN X n=q.2,3, 9.
n=daes. X-x+1=0 tGYBERFLELETL, n=2,30:3L6I1%

N=<q a s X~4x+4s06 = p=4aes BPME x=2 (EF)rL>

4




